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MAEC-07
December - Examination 2019
M. A. (Final) Economics Examination
Labour Economics
Paper - MAEC-07
Time : 3 Hours ] [ Max. Marks :- 80

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 8§xX2=16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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Give answer of the following questions:

=1 gt & IR S

(i) Distinguish between productive and non-productive
labour.
UG YT UG 59 H HG I

(i) What is natural rate of unemployment?
SRISTRY T UTpfcres SR FT 8?2

(iil) What is labour market?
39 gTR fohy ad & 2

(iv) Write the supply function of labour.

%9 1 gfcl Het foriayl

(v) What do you know about marginal labour?

e 21 319 o7 qHSId €
(vi) What is TRYSEM?

SIS T & 2

(vii) Explain the concept of Automation.

TATfAAT T TR DI FISE hIFT|

(viii) Differentiate formal and informal sector.

Il T IFITEIRS &5 § 3R DI
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Section - B 4X8=32
(Short Answer Questions)

Note: Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
gus -
(oTg ITRIT Ue)

fAder: fhgl IR WAl & IR SN 3T 3 IR Dl 3Ffehad

200 gree) § gRAfAg HIRTTI T U9 8 3! & gl

Describe the causes of labour migration.

ST YGRT & BRI Dl gui hIfTT |

Discuss the nature of unemployment in India.

TR H IRISTRI & T HT JHSEU|

Describe the factors affecting wages.

TOIGX! T YU hRaTe] deal bl auf I

Discuss the conditions to success of collective bargaining.

AR AIGIBIRT T FHAT Dl 2l Pl AHATSY|

What are the causes of wage differences. Explain.

Toiell H =TT & 1 DR §? qHSSU

Highlight the need for national wage policy in India.

YR H S FIG el T AT TR HebIeT STferU|

What are the drawbacks of labour union movement in India.
Explain.

TR | S Y ATl Dl AT BT 8 ? FHSSV|

Discuss the health schemes for industrial labour.

Sifenfier et & foTu Tareg AT T gufa Hifu|
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Section-C 2X16=32
(Long Answer Questions)
Note: Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries
16 marks.

Qus - |
(e TR ¥ed)
fAder : el Q1 Uel & IR SRTI 3T 3o ITR B 3fErepead 500
gegl B gRAfIT HITTI URdd T 16 3l P &

10) What is the relation between working hours and capacity of
labour? Do the characteristics of labour affect its wages?

ST &b BT &b gu UF DT &l H T TJre=Y g 2 AT S hl
fAQIYeTY SRAehT HOTGR! 2p1 T hreit & ?

11) Evaluate critically the scope and importance of labour
economics.
5 37efeI & &5 Ud Hgcd Pl STAlaIcHd Jedidh BbIfeTy|

12) Discuss the assumptions of marginal productivity theory. Is
this theory helpful in setting disputes of wages?

A= IcareshdT Ragrd & AFIarsil &l guiq BTl =T Ig
RIGT HoTgdt @ f4aTgi ! Fersiv 73 WERe 82

13) Examine critically Integrated Rural Development Programme.

FHferd AT fIhrT BRIHH BT MTelaTTcHD URISTIT I
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